Restar de Ceros (])

10000
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10000

- 5658

10000

- 5546

10000

- 5092

10000

- 9694

10000

- 8549

10000

- 1866

Halle cada diferencia.

10000 10000
- 9752 - 2140
10000 10000
-6118 - 5311
10000 10000
- 4822 -7710
10000 10000
- 8743 - 3476
10000 10000
-9931 - 7653
10000 10000
- 4672 - 8330
10000 10000
- 2587 -5032

10000

- 460

10000

-178

10000

- 8290

10000

- 1846

10000

- 1381

10000

- 7799

10000

- 6628
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Restar de Ceros (J) Respuestas

10000

-1306

8694

10000

- 5658

4342

10000

- 5546

4454

10000

- 5092

4908

10000

- 9694

306

10000

- 8549

1451

10000

- 1866

8134

Halle cada diferencia.

10000 10000
- 9752 - 2140
248 7860
10000 10000
-6118 - 5311
3882 4689
10000 10000
- 4822 -7710
5178 2290
10000 10000
- 8743 - 3476
1257 6524
10000 10000
-9931 - 7653
69 2347
10000 10000
- 4672 - 8330
5328 1670
10000 10000
- 2587 - 5032
7413 4968

10000
- 460

9540

10000

-178

9822

10000

- 8290

1710

10000

- 1846

8154

10000

- 1381

8619

10000

- 7799

2201

10000

- 6628

3372
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